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Let op: beantwoord een open vraag altijd in het Nederlands, behalve als het 
anders is aangegeven. Als je in het Engels antwoordt, levert dat 0 punten op. 
 
 

Tekst 1  Entirely Different Cooking Show 
 

1p 1 What is the main point made in this text? 
A Both the BBC and Channel 4 claim the other network has duplicated 

their TV formats. 
B The BBC is well aware that their new show strongly resembles the 

format they sold to Channel 4. 
C There is a limited number of celebrities that are competent enough to 

present popular cooking competitions. 
D Viewers seem to dislike the parallels between various cookery shows 

on TV. 
 
“Why can’t the BBC come up with an original idea for a programme 
instead of just copying the one we bought off them?” (paragraph 5) 

1p 2 Why does the writer quote this remark? 
A to exonerate the BBC from any wrongdoing 
B to make fun of Channel 4 for cooperating with the BBC 
C to mock the dispute between the BBC and Channel 4 
D to ridicule Channel 4 for behaving irrationally 
 
 

Tekst 2  Climate calculations 
 

1p 3 Which of the following fits the gap in the letter? 
A a categorical denial 
B a false dichotomy 
C a logical conjecture 
D a noteworthy reproach 
E a perceptive analogy 
 
 
 


